



Name: _____

Date: _____ Score: _____

$$(5 - \frac{1}{2})^2 + \frac{2}{3} \times 2^2 - \frac{1}{3} =$$

$$(\frac{3}{5} + (\frac{3}{4})^2) \times \frac{1}{3} + (\frac{2}{3} - \frac{1}{5})^2 =$$

$$(\frac{3}{5} + \frac{1}{6})^2 - \frac{1}{5}(\frac{1}{2} + (\frac{3}{4})^2) =$$

$$(\frac{1}{2} + \frac{2}{5})^2 + \frac{3}{5}(\frac{1}{2} + \frac{3}{4}) =$$

$$(5 - \frac{1}{6})^2 - \frac{2}{5} - 3^2 \times \frac{2}{5} =$$

$$(3 + \frac{3}{2})^2 - \frac{2}{5} - \frac{1}{3} - 4^2 =$$

$$((\frac{3}{2})^2 + \frac{1}{3}) \times \frac{1}{5} - (\frac{1}{5} + \frac{3}{4})^2 =$$

$$(2 - \frac{3}{2})^2 + \frac{1}{3} - 3^2 - \frac{3}{4} =$$

$$(\frac{3}{4} + \frac{1}{2})^2 + \frac{1}{2}(\frac{2}{3} + (\frac{1}{4})^2) =$$

$$((\frac{1}{2})^2 + \frac{1}{6}) \times \frac{1}{2} - (\frac{2}{3} + \frac{1}{6})^2 =$$



Name: _____

Date: _____ Score: _____

$$(5 - \frac{1}{2})^2 + \frac{2}{3} \times 2^2 - \frac{1}{3} = \frac{271}{12} = 22\frac{7}{12}$$

$$(\frac{3}{5} + (\frac{3}{4})^2) \times \frac{1}{3} + (\frac{2}{3} - \frac{1}{5})^2 = \frac{2179}{3600}$$

$$(\frac{3}{5} + \frac{1}{6})^2 - \frac{1}{5}(\frac{1}{2} + (\frac{3}{4})^2) = \frac{1351}{3600}$$

$$(\frac{1}{2} + \frac{2}{5})^2 + \frac{3}{5}(\frac{1}{2} + \frac{3}{4}) = \frac{39}{25} = 1\frac{14}{25}$$

$$(5 - \frac{1}{6})^2 - \frac{2}{5} - 3^2 \times \frac{2}{5} = \frac{697}{36} = 19\frac{13}{36}$$

$$(3 + \frac{3}{2})^2 - \frac{2}{5} - \frac{1}{3} - 4^2 = \frac{211}{60} = 3\frac{31}{60}$$

$$((\frac{3}{2})^2 + \frac{1}{3}) \times \frac{1}{5} - (\frac{1}{5} + \frac{3}{4})^2 = (-\frac{463}{1200})$$

$$(2 - \frac{3}{2})^2 + \frac{1}{3} - 3^2 - \frac{3}{4} = (-\frac{55}{6}) = (-9\frac{1}{6})$$

$$(\frac{3}{4} + \frac{1}{2})^2 + \frac{1}{2}(\frac{2}{3} + (\frac{1}{4})^2) = \frac{185}{96} = 1\frac{89}{96}$$

$$((\frac{1}{2})^2 + \frac{1}{6}) \times \frac{1}{2} - (\frac{2}{3} + \frac{1}{6})^2 = (-\frac{35}{72})$$